YHAKIO
A=+t

http://www.hakko.com

T556-0024 KFRAREXIEE2T B4%55
TEL: (06) 6561-1574 (1£) FAX: (06) 6568-0821

YHAKIO

HAKKO CORPORATION

HEAD OFFICE

4-5, Shiokusa 2-chome, Naniwa-ku, Osaka 556-0024 JAPAN
TEL:+81-6-6561-3225 FAX:+81-6-6561-8466
http://www.hakko.com E-mail:sales@hakko.com

OVERSEAS AFFILIATES

U.S.A.: AMERICAN HAKKO PRODUCTS, INC.
TEL: (661) 294-0090 FAX: (661) 294-0096

Toll Free (800)88-HAKKO

sssss
http://www.hakkousa.com

HONG KONG: HAKKO DEVELOPMENT CO., LTD.
TEL: 2811-5588 FAX: 2590-0217
http://www.hakko.com.hk
E-mail:info@hakko.com.hk

SINGAPORE: HAKKO PRODUCTS PTE LTD.
TEL: 6748-2277 FAX: 6744-0033
http://www.hakko.com.sg
E-mail:sales@hakko.com.sg

Please access to the following address for the other Sales affiliates.

http://www.hakko.com

© 2016 HAKKO Corporation. All Rights Reserved.

2015.12
MA02778XZ151201

YHAKIO

No. C5032 i

O~x—Z7L—F 1  @&E~RL (M5x8) 3E
N\ I—FG-460BRA YV R . e

HREHERE orsLLF
(3:72.5) 11
ZOVE Ny T —FGA60f 2 4V | % é%%¢§§
FEOEFOWAZEZZZ L0 NI 80T, OXFH/NMT 1K
BRI % B i1 Z OBERGIAE 2 Btz & D ?/ﬁ oty il
IELS BRI Z &0, NARMTIEDR L
F B AL 572 RUNTRE LT 22 &0, (M5x 8) 2f&

. . . 8
BAEAILTCROFERAE
NEE  FEEBRICETAEY LENE S IFEEEICT > T A AL,

BAEX

[ English | & x

®/vy A—FG-460D ON—=ZXFL—PMDLEIZTFAMNSL— %

BB zXF/N1S Bx%d,
CERI T ET, B O— FER—2TL— FOBLRICEL %
ol = To RAY RAEBILESHI— RASHNNITD
BN T3 HPf.
- DIDBLADRHBHLET,
@BELF9, 75\/\/\ | pE! N
%? @/\y A—FG-460A&FDE T TV < I T
RERICEKFZEELE T,

TRARTL—EDED

— - B EEI— N, ACPHT
QFFNA TEN=ZXTL— R %@@75/jf&/<\fz

WUFTET, —FG-460EREDY +
S A TERN—2T— MR vOIELRBET,
L, BETELLAH. BESOHOE
Qigﬁ ShEET, HEORBLYFT
Ty FRUEED (2477 %f
NATEEELET.

i

T




YHAKIO YHAKIO

No. C5032 ek No. 05032 B PACKING LIST

O EAREE 118 ® HEEEIZET M5X8) 3(E @ Baseplate (x 1) @ Pan head screws
HAKKO FG-460Ff 1742 oo o Stand for HAKKO FG-460 - (M5 x 8) (x 3) —
N TP N
1%% Eﬁv EE% o AIRF (#iE2.5) 18 |nStI‘UCtI0n Man Ua| ® Hex wrench -DK;

(2.5 across flats) (x 1) |_|
% Thank you for purchasing the Stand for '
HAKKO FG-460 Footwear Tester. @® Support pipe (x 1) ﬁ X
S Please read this manual before operating ﬁ
.f_z\%%%éﬁ?{@ﬂ (M5X8) the HAKKO FG-460. ® Setscrews ¥
2(@ Keep this manual readily accesible for reference. (hex socket head)
(M5 x 8) (x2)
i

R EEE FEHAKKO FG-460 3722 »
{HEFR R B o
TR L P R I e P A R A o
i R M EE RS RS o

8 8
WAARNERBE B Assembly and how to use
AN EE - EEUWBERRIFUERE LR o

A CAUTION: Be sure to assemble all parts firmly so that they do not shift during use.

(DHEHAKKO FG-460H R IE = Qig Rz RN BB EREE L - (DAttach Hakko FG-460 (3Place the test plate on top of the
RREZRLE - | mounting base to the baseplate.
support pipe.

T JEE 2 P A ) A S AR R 2 B AL o I ST

L Pass the connection cable through the hole in
FHRAT: BEIEE] [E B35 © ARSI e @FLEFH o Use pan head screws the baseplate. Tilt the stand and pass the
and fasten in 3 places. connection cable through the support pipe so
that it comes out of hole ®.
(@{FEFAHAKKO FG-460E AL EE HEsRIS (@Fasten the FG-460 main unit on the
FHECERRKEL - mounting base using the mounting
SCrews.
R B AR LR Plug the connecting cord
QT IRREFIERE L, LR ACTE V5 TE T A (2Attach the support pipe to the from the test plate and the
HA,KIfO FG-4607c I iy baseplate. AC adapter plug into the
S AR 58 2 A A AR EE | 0 FREE T FeiR o Insert the support pipe fully into the respective jacks on the left
MR e 22— o {8 R B I 7S A baseplate and align the mounting side of the HAKKO FG-460.

@ TR (20F) MEY

# e

- - base with the baseplate. Use the . r\//,
° included hex wrench to tighten the S;g‘lge(’t'”Q\ -
setscrews (2 places) to fasten the e

: |
support pipe. AC adapter i

Mounting
screw

Connecting




